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QUESTION 1

The acronym SOAP was originally defined as: Select the correct answer.
A. Simple Object Access Protocol

B. Service-Oriented Access Protocol

C. Service Object Access Parameters

D. Simple Object Acknowledgment Protocol

Correct Answer: A

QUESTION 2

Which of the following technologies can be used to enable the exchange of data between services? Select the correct
answer.

A. SOAP
B. HTTP
C. WSDL
D. All of the above.

Correct Answer: D

QUESTION 3
Which of the following statements is true? Select the correct answer.

A. WS-ReliableMessaging establishes a framework that provides an industry-standard means of transforming XML
schema-based data models.

B. WS-ReliableMessaging establishes a framework that provides an industry-standard means of rolling back changes
that occur during a runtime service transaction.

C. WS-ReliableMessaging establishes a framework that provides an industry-standard means of reliably communicating
policy enforcement rules.

D. None of these statements are true.

Correct Answer: D

QUESTION 4

Which of the following statements is true? Select the correct answer.
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A. XML documents can be exchanged by REST services.

B. XML documents can be exchanged by SOAP-based Web services.
C. XML documents can be exchanged by component-based services.
D. All of these statements are true.

Correct Answer: D

QUESTION 5

MEP stands for: Select the correct answer.
A. Message Extension Pair

B. Message Exchange Pattern

C. Mixed Entry Platform

D. Mixed Elevation Program

Correct Answer: B

QUESTION 6

Which of the following statements makes sense? Select the correct answer.

A. | have 3 REST services, 2 of which do not support the PUT method.

B. | have 3 REST services, 2 of which have a PUT operation in the SOAP header schemas of their WSDL definitions.
C. I have 3 REST services, 2 of which do not support HTTP.

D. None of these statements make sense.

Correct Answer: A

QUESTION 7

Service intermediaries can be further classified as or depending on
whether they modify message content. Select the correct answer.

A. event-driven, dynamic
B. active, passive
C. composed or decomposed

D. read-oriented, write-oriented
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Correct Answer: B

QUESTION 8

Each WSDL can define a set of and/or messages
to express data exchange requirements. Select the correct answer.

A. operation, type, RPC

B. operation, input, output
C. function, type, RPC

D. function, operation, type

Correct Answer: B

QUESTION 9

Which of the following statements is true? Select the correct answer.

A. Each REST service exposes its own unique technical service contract.

B. REST services are event-driven programs that do not have service contracts.

C. REST services only expose a technical service contract when using SOAP messaging.
D. REST services share a common uniform contract.

Correct Answer: D

QUESTION 10

An XML schema can be linked to any number of XML documents, but an XML document can link to only one XML
schema. Select the correct answer.

A. True
B. False

Correct Answer: B

QUESTION 11

Which of the following service designs are considered not supportive of service-orientation due to improper selection of
technologies? SELECT ALL THAT APPLY

A. A REST service designed to respond to service consumers via standard HTTP response codes.
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B. A SOAP-based Web service designed with a service contract that includes WS-Policy definitions that disallow
communication using SOAP messages.

C. A reusable component-based service designed to reject messages containing XML so as to limit communication to
RPC-centric MEPs.

D. A SOAP-based Web service designed with a decoupled service contract that includes a standardized XML schema.

Correct Answer: BC

QUESTION 12

To create REST services, you are required to deploy an enterprise service bus due to the need for inherent message
routing functionality. Select the correct answer.

A. True
B. False

Correct Answer: B

QUESTION 13

A WS-Policy definition can be attached to different parts of a or to multiple
. Select the correct answer.

A. service activity, service activities
B. service contract, service contracts
C. service model, service models

D. service line, service lines

Correct Answer: B

QUESTION 14
Which of the following statements is true? Select the correct answer.
A. WS-ReliableMessaging standardizes reliability levels associated with databases required to persist state data.

B. WS-ReliableMessaging standardizes the issuance and delivery of positive and negative acknowledgement
messages.

C. WS-ReliableMessaging standardizes SOAP headers related to atomic transactions with rollback features.

D. WS-ReliableMessaging standardizes the expression of service composition logic, but only for SOAP-based Web
services.

Correct Answer: B
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QUESTION 15

Which of the following technologies has a namespace pre-defined by an industry standards organization? Select the
correct answer.

A. WS-Addressing
B. REST
C.Web 2.0

D. Because all Web-based technologies are required to have namespaces, all of the above technologies have pre-
defined namespaces.

Correct Answer: A
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